KKO #A

Switch

Al (splx) = B B
D BE—

A2 (splx) = B B

(0+A3+A4+SB) — 0 = A3+A4+SB = A3+A4+B3+B4

Silence (0)

-
- (0+A3+A4+SB) — A3 = A4+SB = A4+B3+B4

A3 (dplx) g - >
é (0+A3+A4+SB) — A4 = A3+SB = A3+B3+B4

A4 (dplx) - >

(0+A3+A4+SB) - SB= A3+Ad4 = SA

SB (dplx always)

Conference
bridge

KKO #B

(0+B3+B4+SA) — 0 = B3+B4+SA = B3+B4+A3+A4

. Switch
B1 (splx) = -
<
B2 (splx) = -4
Silence (0) L
. (0+B3+B4+SA) — B3 = B4+SA = B4+A3+A4
B3 (dplx) g - ~
c: (0+B3+B4+SA) — B4 = B3+SA = B3+A3+A4
B4 (dplx) - ~
(0+B3+B4+SA) — SA = B3+B4 = SB

SA (dplx always)

Conference
bridge

SA=A3+A4

MDI110 EXCHANGE

SB=B3+B4




